
UG010−7R

UG010−1A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.031 0.996 0.482 0.001

UG010−2A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.029 1.059 0.277 0.004

UG010−3A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.05 0.934 0.292 0.001

UG010−4A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005

UG010−5A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.114 0.689 0.307 0.003

UG010−6A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.067 0.824 0.2 0.002

UG010−7A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.023 1.11 0.338 0.0

UG010−8A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.009 1.45 0.419 0.0

UG011−1A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.12 0.626 0.152 0.001

UG011−2A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.118 0.639 0.152 0.001

UG011−3A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.064 0.824 0.381 0.001

UG011−4A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.067 0.824 0.2 0.002

UG011−5A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.009 1.45 0.419 0.0

UG011−6A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.118 0.639 0.152 0.001

UG011−7A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.064 0.824 0.381 0.001

UG011−8A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.031 0.996 0.482 0.001
0.114 0.689 0.307 0.003



UG010−7R

UG010−1A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.026 1.019 0.077 0.002

UG010−2A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.034 1.016 0.073 0.003

UG010−3A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.04 1.06 0.05 0.005

UG010−4A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005

UG010−5A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.028 0.983 0.098 0.002

UG010−6A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.031 0.98 0.046 0.005

UG010−7A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.045 0.897 0.059 0.002

UG010−8A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.062 0.82 0.052 0.0

UG011−1A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.054 0.977 0.035 0.002

UG011−2A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.054 0.806 0.025 0.005

UG011−3A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.057 0.827 0.042 0.001

UG011−4A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.031 0.98 0.046 0.005

UG011−5A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.062 0.82 0.052 0.0

UG011−6A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.054 0.806 0.025 0.005

UG011−7A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.057 0.827 0.042 0.001

UG011−8A_2

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.026 1.019 0.077 0.002
0.028 0.983 0.098 0.002



UG010−7R

UG010−1A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.038 0.913 0.016 0.002

UG010−2A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.031 0.966 0.023 0.011

UG010−3A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.038 0.951 0.023 0.006

UG010−4A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004

UG010−5A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.043 0.929 0.014 0.008

UG010−6A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.047 0.86 0.012 0.01

UG010−7A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.068 0.885 0.01 0.002

UG010−8A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.065 0.803 0.011 0.001

UG011−1A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.093 0.849 0.006 0.008

UG011−2A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.047 0.853 0.007 0.007

UG011−3A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.06 0.797 0.011 0.005

UG011−4A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.047 0.86 0.012 0.01

UG011−5A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.065 0.803 0.011 0.001

UG011−6A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.047 0.853 0.007 0.007

UG011−7A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.06 0.797 0.011 0.005

UG011−8A_3

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.038 0.913 0.016 0.002
0.043 0.929 0.014 0.008



UG010−7R

UG010−1A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.031 0.996 0.482 0.001

UG010−2A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.029 1.059 0.277 0.004

UG010−3A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.05 0.934 0.292 0.001

UG010−4A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005

UG010−5A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.114 0.689 0.307 0.003

UG010−6A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.067 0.824 0.2 0.002

UG010−7A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.023 1.11 0.338 0.0

UG010−8A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.009 1.45 0.419 0.0

UG011−1A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.12 0.626 0.152 0.001

UG011−2A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.118 0.639 0.152 0.001

UG011−3A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.064 0.824 0.381 0.001

UG011−4A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.067 0.824 0.2 0.002

UG011−5A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.009 1.45 0.419 0.0

UG011−6A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.118 0.639 0.152 0.001

UG011−7A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.064 0.824 0.381 0.001

UG011−8A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.031 0.996 0.482 0.001
0.114 0.689 0.307 0.003



UG010−7R

UG010−1A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.026 1.019 0.077 0.002

UG010−2A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.034 1.016 0.073 0.003

UG010−3A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.04 1.06 0.05 0.005

UG010−4A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005

UG010−5A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.028 0.983 0.098 0.002

UG010−6A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.031 0.98 0.046 0.005

UG010−7A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.045 0.897 0.059 0.002

UG010−8A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.062 0.82 0.052 0.0

UG011−1A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.054 0.977 0.035 0.002

UG011−2A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.054 0.806 0.025 0.005

UG011−3A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.057 0.827 0.042 0.001

UG011−4A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.031 0.98 0.046 0.005

UG011−5A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.062 0.82 0.052 0.0

UG011−6A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.054 0.806 0.025 0.005

UG011−7A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.057 0.827 0.042 0.001

UG011−8A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.026 1.019 0.077 0.002
0.028 0.983 0.098 0.002



UG010−7R

UG010−1A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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−1
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  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.038 0.913 0.016 0.002

UG010−2A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.031 0.966 0.023 0.011

UG010−3A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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−1
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  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.038 0.951 0.023 0.006

UG010−4A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004

UG010−5A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
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  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.043 0.929 0.014 0.008
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−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.047 0.86 0.012 0.01
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L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.068 0.885 0.01 0.002

UG010−8A_6

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.065 0.803 0.011 0.001
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L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.093 0.849 0.006 0.008
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.047 0.853 0.007 0.007
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.06 0.797 0.011 0.005
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.047 0.86 0.012 0.01
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.065 0.803 0.011 0.001
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.047 0.853 0.007 0.007
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.06 0.797 0.011 0.005
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.038 0.913 0.016 0.002
0.043 0.929 0.014 0.008



UG010−7R

UG010−1A_7
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.031 0.996 0.482 0.001
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.029 1.059 0.277 0.004
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L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.05 0.934 0.292 0.001
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.114 0.689 0.307 0.003
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.067 0.824 0.2 0.002
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.023 1.11 0.338 0.0
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.009 1.45 0.419 0.0
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.12 0.626 0.152 0.001

UG011−2A_7

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.118 0.639 0.152 0.001
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.064 0.824 0.381 0.001
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.067 0.824 0.2 0.002
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.009 1.45 0.419 0.0
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.118 0.639 0.152 0.001
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.045 0.894 0.312 0.005
0.064 0.824 0.381 0.001
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L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.031 0.996 0.482 0.001
0.114 0.689 0.307 0.003
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.026 1.019 0.077 0.002
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L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.034 1.016 0.073 0.003
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L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.04 1.06 0.05 0.005
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
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L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.028 0.983 0.098 0.002
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.031 0.98 0.046 0.005
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.045 0.897 0.059 0.002
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.062 0.82 0.052 0.0
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L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.054 0.977 0.035 0.002
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.054 0.806 0.025 0.005
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Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.057 0.827 0.042 0.001
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Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.031 0.98 0.046 0.005
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.062 0.82 0.052 0.0
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.054 0.806 0.025 0.005
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.042 0.993 0.065 0.005
0.057 0.827 0.042 0.001
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=63cd/m2
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.026 1.019 0.077 0.002
0.028 0.983 0.098 0.002



UG010−7R
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A
average

A1    A2    A3      ∆
0.038 0.913 0.016 0.002
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A
average

A1    A2    A3      ∆
0.031 0.966 0.023 0.011
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A
average

A1    A2    A3      ∆
0.038 0.951 0.023 0.006

UG010−4A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s Y
average

A1    A2    A3      ∆
0.043 0.929 0.014 0.008
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s Y
average

A1    A2    A3      ∆
0.047 0.86 0.012 0.01
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s B
average

A1    A2    A3      ∆
0.068 0.885 0.01 0.002
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s B
average

A1    A2    A3      ∆
0.065 0.803 0.011 0.001
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s R
average

A1    A2    A3      ∆
0.093 0.849 0.006 0.008
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s R
average

A1    A2    A3      ∆
0.047 0.853 0.007 0.007
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L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s G
average

A1    A2    A3      ∆
0.06 0.797 0.011 0.005

UG011−4A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,Y
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.047 0.86 0.012 0.01

UG011−5A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,B
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.065 0.803 0.011 0.001

UG011−6A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,R
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.047 0.853 0.007 0.007

UG011−7A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A,G
average

A1    A2    A3      ∆
0.046 0.859 0.014 0.004
0.06 0.797 0.011 0.005

UG011−8A_9

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A,Y
average

A1    A2    A3      ∆
0.038 0.913 0.016 0.002
0.043 0.929 0.014 0.008


